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1) Comprensione all’'ascolto

2) Use of English

3) Comprensione alla lettura

Esami di AFC+

Tabella per la conversione punti in nota esame scritto (suff. 55%)

1

1.5

2.0

2.5

3.0

3.5

4.0

4.5

5.0

5.5

6.0

0-4

5-14

15-24

25-34

35-44

45-54

55-64

65-74

75-84

85-94

95-100




LISTENING COMPREHENSION

| PART 1 o5014= 7019

NO SPELLING MISTAKES ACCEPTED!

1) 2) 3)
Reading Marketing Department
4) 5) 6)
14th August/08 0762 699 52 00
7) 8) 9)
Advertisement Personal Assistant
10) 11) 12)
bonus current 20t
13) 14)
July Thompkinson
...... /7 pts
| PART 2 15— 5
1. 2. 4.
H C B
...... / 5 pts
PART 3 (1x8 = 8 pts)
Statements 2 3 4 7 8
A,BorC C A B B A
...... / 8 pts
TOTAL:. ........ / 20 pts
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LISTENING COMPREHENSION

PART 1 (05x14=7pts)

NO SPELLING MISTAKES ACCEPTED!

9

©ONoOARWN =

Reading
Marketing
Department
14th

August/08
0762 699 52 00
Advertisement
Personal
Assistant

10. bonus

11. current

12. 20th

13. July

14. Thompkinson

PART 2 (1x5 = 5 pts)

AN A

Pl m | O|x

PART 3 (1x8 = 8 pts)

Statements | A,Bor C

1

(N[~ (D W|N

> o> 0|® > 0>

TOTAL: ........ / 20 pts
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USE OF ENGLISH

Exercise 1 Put the correct letter (A, B, C or D) in the boxes below. (1x10 = 10 pts)

—

5.

6.

7.

2, 4.
D C C

C

A

C

8.
C

Exercise 2 Write only the missing words below. (1x5 =5 pts)

was written by

if she enjoyed

can’'t/mustn’t

had - would/could call

LA ol I ol B

good as

TOTAL POINTS:. ......... / 15 pts
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USE OF ENGLISH

Exercise 1 Put the correct letter (A, B, C or D) in the boxes below. (1x10 = 10 pts)

1. |C
2. |D
3. |C
4. |C
5.|C
6. | A
7. | C
8. |C
9. | A
10 | B
......... /10 pts
Exercise 2 Write only the missing words below. (1x5 = 5 pts)
1. | was written by
2. | if she enjoyed
3. | can’t/mustn’t
4. | had - would/could call
5. | good as
......... / 5 pts
TOTAL POINTS:. ......... / 15 pts
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Reading comprehension

TEXT 1 — Notes and messages (ixs- 5ot

Statements 1 2 3 4
A, BorC C | A|C B
...... /5 pts
TEXT 2 - The Diet of the Future Planet Vegan (ixis- 15
EXERCISE ONE
Headings A-F A B | C | D E
Paragraphs 1-6 | 2 4 6 5 3
...... / 6 pts
EXERCISE TWO
T/F Correction (if false) — only F = 0 points!
1. T
2, F 80% of the 25% of emissions caused by the food industry
3. T
4. F There will be a reduction of food shortage and malnutrition
5. T
6. T
7. F Only the American magazine “Time"” agrees
8. T
9. F Scientific data is almost never enough to convince politicians
...... / 9 pts
TEXT 3 - Graphs (1x5 = 5 pts)
Questions 1 2 3 4 5
A-H G| A F H D
...... /5 pts
TEXT 4 - The Chernobyl Disaster of 1986 (5= 151
EXERCISE ONE
Questions 1 2 3 4 5 10
A, BorC A (o B (o A (o
EXERCISE TWO
imprecise flawed
keeping out exclusion
interested in keen on
immediately right away
extremely happy delighted
...... /15 pts
TOTAL: ........ / 40 pts
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Reading comprehension

TEXT 1 — Notes and messages ixs-sex

Statements A,BorC
1 Cc
2 A
3 Cc
4 B
5 AL / 5 pts
‘ TEXT 2 - The Diet of the Future Planet Vegan i.s- s
EXERCISE ONE EXERCISE TWO
Headings Paragraphs T/F Correction (if false) - only F = 0 points!
A-F 1-6 17
: ‘2‘ 2 |F 80% of the 25% of emissions caused by the food industry
c 6 3 |T
D 5 4 |F There will be a reduction of food shorfage and malnutrition
E 3 50T
F 1 6 |1
7 |F Only the American magazine “Time” agrees
8 |T
? | F Scientific data is almost never enough to convince politicians

TEXT 3 — Graphs -0

Questions

A-H

1

abhiwiN

oxm >0

TEXT 4 - The ChernObyl Disaster of 1986 (1X15 =15 pts)

Questions A BorC
1 A
2 C
3 B
4 Cc
5 A
6 B
7 B
8 C
9 A
10 C
EXERCISE TWO
imprecise keeping out interested in immediately extremely happy
flawed exclusion keen on right away delighted
...... / 15 pts
TOTAL: ........ / 40 pts
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